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2010H S Z0IA LBIE|H TADED ~ SARSD
SH TADED
Hm: CADNY
Sl SAHE S (el &2
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
CARED 24,115,705 21,062,056 3,053,649
2 3,000,000
= 1,278,001
2 19,837,704
SAH 17,917,292 9,704,803 8,212,489
2 3,000,000
= 1,012,000
2 13,905,292
A E S 52,933 2,076,253 A2,003,320
SAAE 2% X 47,000 20,320 26,680
201 Lty 40,700 13,320 27,380
01 AR eIl 4,900 9,820 A4,920
osg+g 4,900
—SAHEARS L
70,000 * 13 * 43| 3,640
—HALAESNE BaLY
70,000 * 6% * 33l 1,260
02 IT2YH| 35,800 3,500 32,300
0ZZ23 % Al 5,800
—0I5It RS LER(SI U Ly
5,000,000 5,000
—EX0ISAHE LA AL ADRISIH (2
2) 800,000 800
SNEETTES 30,000
—SAIHEE4SHKLIS 0B) R 24
30,000,000 30,000
203 HRFY| 6,300 7,000 AT00
03 AlZ =T R =Y 6,300 7,000 AT00
OIS 3,000,000 * 90% 2,700
OSADIE R =T 4,000,000 * 90% 3,600
ZYIIEE LREA 5,933 5,933 0
101 @121t 5,933 5,933 0
04 JIAH2EZHE L4 5,933 5,933 0
OZIIEE AHMEA(186F)
35,310 * 6% * 28 5,933
NBIEDNERET - 520,000 1,010,000 430,000
SAHEAE EXEA 520,000 1,010,000 430,000
401 Al&HIL 20| 520,000 1,010,000 490,000
01 Al 500,000 950,000 A450,000
OSAHEANL BYEXSA 500,000,000 500,000
03 Al& S CH| 20,000 60,000 40,000
OSAHEAE ASSE 20,000,000 20,000
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M SALNSH
T AR

el S AN (St &)
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
CAIDHE 5,800,000 0 5,800,000
= 3,000,000
= 2,800,000
N B 800,000 0 800,000
401 Al&H| L L2HY| 800,000 0 800,000
01 Al&H] 800,000 0 800,000
O2=sC A22XH 800,000,000 800,000
DIZ2HX =HAIY 5,000,000 0 5,000,000
= 3,000,000
= 2,000,000
401 Al&HI LS 5,000,000 0 5,000,000
= 3,000,000
= 2,000,000
01 Al&H] 5,000,000 0 5,000,000
OJNEANA FAEZ2 M (L=767m)
5,000,000, 000 5,000,000
= 3,000,000
= 2,000,000
SAHEEZ WA 10,983,000 4,372,000 6,611,000
[ 1,000,000
= 9,983,000
IIEZAHEZ2(A2-825 8, SUH82I 32t ) K 600,000 0 600,000
M
401 Al&HI LS 600,000 0 600,000
01 Al&H] 600,000 0 600,000
OB AHECT2(A2-825 M, SLH82I5I 2 )
JH & (L=100m) 600,000,000 600,000
HECAHECS2(A1-145H, SWA) M 600,000 0 600,000
401 Al&HI LS 600,000 0 600,000
01 Al&H] 600,000 0 600,000
OB AHECZ(A-145 6, 2MA)MA (L=
242m) 600,000,000 600,000
HEANATHER2(ZER14, HARA~ASAN WA 5,900,000 0 5,900,000
401 Al&H| L LCHY| 5,900,000 0 5,900,000
01 Al&H] 5,880,000 0 5,880,000
OBEBEBZAMHEZZ(Z1-454) N4 (555m)
5,880,000, 000 5,880,000
03 Al&=20HHI 20,000 0 20,000
OBEZAMHEZZ(Z1-45 ) JH4 (555m)
20,000,000 20,000
HECAHEZZ2(Z1-68H, RAAAAAL) HA 2,223,000 0 2,223,000
[= 1,000,000
= 1,223,000
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Sel: SAHEER e (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
401 Al&HI LS 2,223,000 0 2,223,000
[= 1,000,000
= 1,223,000
01 Al&H] 2,203,000 0 2,203,000
OHBEZAMHEZZ(E1-65 46, FH A A AL
JH 4 (L=250m) 2,203,000,000 2,203,000
[= 991,000
= 1,212,000
03 Al&=2CHHI 20,000 0 20,000
OHBEZAMHEZZ(E1-65 4, FH A A AL
JH 4 (L=250m) 20,000,000 20,000
[= 9,000
= 11,000
HECAHEZR2(ZE2-18 46, AAAOIL) JHA 1,500,000 0 1,500,000
401 Al&H| L LCHY| 1,500,000 0 1,500,000
01 Al&H] 1,490,000 0 1,490,000
OFBCAHECZ(Z2-15 M, A A AOHLH) Y
A (L=200m) 1,490,000, 000 1,490,000
03 Al&=2CHHI 10,000 0 10,000
OB AHECTZ(Z2-15 M, A A AOHLH) Y
A (L=200m) 10,000,000 10,000
HECAHEZ2(5Yel) Ha 160,000 0 160,000
401 Al&HIZ 0 160,000 0 160,000
01 Al&H] 160,000 0 160,000
OFBCAMAHEZZ(SH2!)INE (L=600m)
160,000,000 160,000
F=HEHMNA 561,359 2,246,550 A 1,685,191
[= 12,000
= 549,359
S EIEEH ALY 40,000 0 40,000
[= 12,000
= 28,000
402 DIZHR20| A 40,000 0 40,000
[= 12,000
= 28,000
01 QItR2EX 40,000 0 40,000
O=Z=8IEHHIALY 40,000,000 40,000
[= 12,000
= 28,000
SEgA=S 22 12,434 17,430 4,99
201 LEt2HH| 7,250 10,750 23,500
01 AFRZt2IH] 7,000 10,500 23,500
Oggta=2H| 4,000
— A=Y HR L THRY 2,000,000 2,000
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M SALNSH
T AR

SRS ISP R
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0 &t o4 i HREZ
—sggne os )|
5,000 » 2% * 10 ~ 128 1,200
Oodxt= 8,000
—=sHZ10= dFJUETA HFHAX=Z
8,000,000 8,000
02 2Z223H| 10,556 0 10,556
OBZRZ % HA 10,556
—0ZL0tHel 20 & dIIZ
437,000 = 128 5,244
—0ZL0tHe 2=l &=L=
187,300 = 7& 1,312
—t&el 4ExEE M= 4,000,000 4,000
03 #AZEH| 23,000 0 23,000
OZIILINQEAEIY A B2 A
11,000,000 11,000
OsZ4& HE L OlHEZMAL ZHl 12,000,000 12,000
202 O4Hl 3,024 0 3,024
01 =LA b 3,024 0 3,024
OZYBDE NSHS oY)
20,000 *» 298 = 72 » 128 » 90% 3,024
206 M=l 14,000 0 14,000
01 M=H| 14,000 0 14,000
O468 =8 30 D= AN 14,000,000 14,000
401 A &HIYL 2048 328,000 70,000 258,000
01 Al&H| 300,000 70,000 230,000
OsgZ1N=E YANAE &K 30,000,000 30,000
OB+2AHAN &3 2L =
8,000,000 * 109H 2 80,000
OSEotzter & 100,000, 000 100,000
O468 =25 ZIX =sstAS 90,000,000 90,000
04 SAFZHHAIEHI 28,000 0 28,000
OZJILALHAEY E28A &X
28,000,000 28,000
CE2H LB S HEES 100,000 60,000 40,000
402 SI2H X201 100,000 60,000 40,000
02 QI2HCHEH AL HI 100,000 60,000 40,000
OE2H ¥ 5 HEEH 100,000,000 100,000
H=swsE otd =8 3,521,569 5,483,525 A 1,961,956
L= 266,001
= 3,255,568
thsws 2N 2,468,781 4,220,142 A1,751,361
= 147,497
= 2,321,284
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SN
X XH .
S Tt

el

I:I}\_I X ZH C|—O|(;| j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
28 X 1,400,000 1,947,172 ADB4T 172
307 212t01& 1,400,000 1,947,172 NBAT 172
00 2+HHEES 1,400,000 1,947,172 ABAT 172
O2x=dAHSF 1,400,000, 000 1,400,000
=sns 2&3 N 680,609 542,007 138,602
101 14| 6,003 6,003 0
04 JIZPMZ2Z2XSE 6,003 6,003 0
Ootisns ol
* 5 * 23] 6,003
308 XX HHSO0IA 674,606 536,004 138,602
05 NXIEHHMZ2EE= 674,606 536,004 138,602
OAMUHAME 153, 185,000 153,185
Ostsgol & 511,887,000 511,887
OSEHMAAE 3
4,136,000 4,136
OAMUHA HAE g3
4,519,000 4,519
OusiH=F 2=
879,000 879
HElA 2T 24 400 0 400
& 250
= 150
307 S12t01& 400 0 400
& 250
= 150
09 2HAHEX3 400 0 400
O&HA 2 400,000 400
& 250
= 150
HALd =484 48,058 0 48,058
L= 9,029
= 39,029
301 et 4= 48,058 0 48,058
& 9,029
= 39,029
12 JIEtE 43 48,058 0 48,058
Oglld &4 48,058,000 48,058
= 9,029
i 39,029
SHESZHA 2 329,347 0 329,347
= 131,739
= 197,608
307 212t01& 329,347 0 329,347
& 131,739




2N SARSD
M EUE OF =B

@42l =Esns 23N (9 E2
B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
= 197,608
09 2HHEX3 329,347 0 329,347
OsHE3gHA 2HZB =X 329,347,000 329,347
= 131,739
= 197,608
SEEHEZHA 10,367 0 10,367
= 6,479
= 3,888
307 QI2t01A 10,367 0 10,367
= 6,479
= 3,888
09 2+HHEES 10,367 0 10,367
OSEEBdHEZYA 10,367,000 10,367
& 6,479
= 3,888
WECHHAIEE X & 22 1,052,788 972,500 80,288
& 118,504
= 934,284
WEATALZE 4 L B 310,000 370,000 A 60,000
401 AlZHIL 2 H] 310,000 370,000 60,000
01 Al&HI 310,000 370,000 260,000
QuEotdAdE &5 & B 180,000,000 180,000
OHAESHE EXE &X 10,000,000 10,000
OHASXUIIA ¥ HEXH SRS
20,000,000 20,000
OHASXUIIA~ &X] 80,000,000 80,000
ONeloIEa7Y9E+(68H) 20,000,000 20,000
nsdEE K& 178,560 114,100 64,460
201 LEt23d| 158,320 110,500 47,820
01 AtE22|Hl 10,200 8,700 1,500
O3] 8,800
—XHEE ZEAMA QUM
100 = 128 * 4,00004 4,800
—wWEAMD =01J] EE2=E HE
500 » 4 * 2,0000H4 4,000
o2d=¢ 1,400
—WESHNUHRRAG 2E+Y
70,000 = 5% « 43| 1,400
02 23234l 148,120 101,800 46,320
O2322= & HMA 148, 120
—usStss & E88 dIIe3
131,200,000 131,200
—EHEE E&)| HIIes 9,720,000 9,720




2M: TABSH
dH: susE o™ =5
el WECHMAIEE EX & 2l (9 E2
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
—DEREAS IHE ¥ BAS fBE
4,200,000 4,200
—u 3,000,000 3,000
202 044l 3,240 3,600 A 360
01 =2UA 3,240 3,600 A 360
OnSUFYP =7
20,000 » 3% » 52 » 12& » 90% 3,240
405 KtatESHI 17,000 0 17,000
01 MHaLESH S| 17,000 0 17,000
OosEzE =8I 24 8,500,000 * 24 17,000
MEEHH 29X 21,500 11,400 10,100
307 212t01& 21,500 11,400 10, 100
03 AM2IEHMEXEZ 11,500 11,400 100
OJtg RE2E 3 6,000
—wWEEA oA g 4,000,000 4,000
—WSAMD WAL (2 BAIKH)
2,000,000 2,000
OJtgE=2 =MoLzl 5,500
—Lu22 9 WESord 2m ol 5,000,000 5,000
— @A XA 500,000 500
04 QIZHHALE X 10,000 0 10,000
OZJIsRus=sAZodUz & soSHsUE
10,000,000 10,000
WSOHNMF AT ASHUMFR(EX) 164,030 0 164,030
= 73,830
= 90,200
401 AIEHIZ 2 164,030 0 164,030
& 73,830
= 90,200
01 Al&HI 164,030 0 164,030
ONSOFFANS SHHY =7
164,030,000 164,030
= 73,830
= 90,200
WSEHXE 2SHEA 178,698 0 178,698
& 44,674
= 134,024
401 AEHIZ2OHb] 178,698 0 178,698
& 44,674
i 134,024
01 Al&H| 173,698 0 173,698
QuUse&dNY ASHEAMS 173,698,000 173,698
= 43,424
= 130,274
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SN CADED
E: ZDS OF =R
Sl DSOFAME X L 2ol (9l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
03 Al Chl 5,000 0 5,000
ONSEZNY 2SHAAL 5,000,000 5,000
= 1,250
2 3,750
DEF2HH 25 200,000 0 200,000
401 AlEBIL2Thb| 200,000 0 200,000
01 Al 190,000 0 190,000
ORERLHH 7= 190,000,000 190,000
03 Al& =il 10,000 0 10,000
ORERLHH 25 10,000,000 10,000
HYS AR (SAIDSH) 61,844 58,728 3.116
ol e (ZADS D) 4,200 4,200 0
IR 4,200 4,200 0
203 PREWY] 4,200 4,200 0
4 EASYAREY 4,200 4,200 0
ORANSEALEXY(STAID) 350,000 * 128 4,200
2 (SADED) 57,644 54,528 3.116
o=l 57,644 54,528 3.116
201 2sr2 | 38,774 30,940 7,834
01 AL 22l 38,774 29,260 9,514
SHEES=1i] 33,774
—SABNTY 22,000 * 1904 Xt 4,180
—ARSEIY 2,500,000 2,500
—EXO0ISHHHOA LA R0l
40 * 100,00004 4,000
—=AIIEY 76,000 * 2CH * 73] 2,464
—DUHEHTY(ARE)
280,000 * 8CH * 73] 15,680
—QI5)| 2EIY L 42
150,000 * 1CH * 53] 750
~OiY 2 Hiel 7 3,000,000 3,000
—JIEr2E 7Y 1,200,000 1,200
ozl 5,000
—ARASD2T S20hAY 5,000,000 5,000
202 o1t 18,870 23,588 £4,718
01 2Lhoitl 18,870 23,568 ~4,718
OJl= 480l
120,000 * 26% * 122 = 70% = 80/100 * 90% 18,870
Hees 2,615,000 1,315,000 1,300,000
HEHAHKE(EADED) 500,000 1,000,000 A500,000




SN SADED
HH: HRES

Sel: WREHAKES(SAIRED) (ctel: &
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
HEHHRIE 500,000 1,000,000 A500,000

701 JIEtHINES 500,000 1,000,000 500,000

01 JIEtRI AN == 500,000 1,000,000 A500,000
OJIBtAIEEE S 200,000,000 200,000

OSAHEANLUHRNELLAISES A

300,000,000 300,000

BEXNE(ZAIRS) 2,115,000 315,000 1,800,000

BMIE (LEH) 2,115,000 315,000 1,800,000

311 X2 =0l At&e 315,000 315,000 0

02 Al -2 - 2XNSHLII SIS0 XH&E 315,000 315,000 0
OMFEANH SAHEALE &F 315,000,000 315,000

601 XSS &E 1,800,000 0 1,800,000

02 Al -3 - XYL SXLS S 4 1,800,000 0 1,800,000

1,800,000,000 1,800,000
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